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 https://www.youtube.com/watch?v=pwEt50n2K1c
* https.//www.python.org/downloads/

72 = : [Add Python 3.9 to PATH|&F1v7/

« pipV-IVE—HEICAV AR

* Python version : Python 3.9.4

- B RIRE (IDE) PyCharm®1 VA=)l
 https://www.jetbrains.com/pycharm/download/#section=windows
o #ERL\—-Y3VCommunity version
 JEE = : [Add launchers dir to the PATHIZF1v7
» Python 3.9.4% [ Existing interpreter][Z3E /0
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e O 7 RYT7 FEREE. python --versiond~ > F%& AT
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Microsoft Windows [Version 10.0.22000. 675]
(c) Microsoft Corporation. All rights reserved.

C:¥Users¥steve>python ——version
Python 3.9.4

C: ¥Users¥steve,
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Microsoft Windows [Version 10.0.22000.675]
(c) Microsoft Corporation. All rights reserved.

G ¥Users¥steve>python | _ |
Python 3.9.4 (tags/v3.9.4:1f2e308, Apr 6 2021, 13:40:21) [MSC v. 1928 64 bit (AMD64)] on win32

Type “help”, “copyright”, “credits” or “license” for more information.
>>> 142

3 . |
>>> print("hello world!")

hello world!
o>
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B File Edit View Navigate Code Refactor Run Tools VCS Window Help

wangzk hello.py L~ helo v = p & Q >
g Project O =T = 0 — bitwise.py masking.py draw.py hello.py :
o'

& v wangzk | print("Hello World!") o
= bitwise.py

color_histogram.py
contours.py
contours2.py
draw.py
face_detect.py
family.JPG
family_resized jpg
gradients.py
greyimage.py

25+ haar facexml

hello.py
histogram.py
imagel.png
image1_rescaled.jpg
Run: hello o —
> "C:\Program Files\Python39\python.exe" C:/Users/steve/PycharmProjects/wangzk/hello.py
1
v Hello World!
T
2 =
< “? Process finished with exit code 0
an :‘
o |
1 &
E -
L
=]
n
P Version Control P Run = TODO © Pproblems < Python Packages % Python Console B Terminal @ Event Log
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print('Hello World!"')

print(100)

print([0, 1, 2])

print({'a': 0, 'b': 1,

IEI:

2})

»

printBI%4

NF, #E, YA, FEREEHD

Hello World!

100
[0, 1, 2]
_{lal. E'_, |h|
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print(’
print ("

print(’
print(’

print ("
print ("

abc')
Xyz')

abc',
Xyz')

abc',
Xyz')

end="---"

end="")

=

abc

XyZ
abc---Xyz
abcxyz




orintBI% — EROTHER S (3|%sep)

1 = 100

print('apple', 1i,

print('apple', 1,

print('apple', 1i,

0.123)

0.123, sep='---'

0.123, sep='\n'")

=

apple 100 0.123
apple---100---0.123
apple

100

0.123




printBIEK — ZE 8% 3L FNITIEHAATH

X ZIDEFRICEHDEZFALTEHALEWGE.
TEED=D205ENH3

o N=TYr%ZEEIprintfiiZ =

o XFFHXYY format()
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s = 'Tanaka'
i = 25

print('Tanaka is %d years old.' % i)

print('%s is %d years old.' % (s, 1))

¥

Tanaka 1s 25 years old.

Tanaka 1s 25 years old.




printBa# — X F5IXYY Fformat()Z{ES A2

print('Tanaka is {} years old.'.format(i))
print('{} is {} years old.'.format(s, 1i))

print('{0} is {1} years old. {0},{0},{0}'.format(s, i))
print('{name} is {age} years old.'.format(name=s, age=i))

-

Tanaka 1s 25 years old.
Tanaka 1s 25 years old.
Tanaka 1s 25 years old. Tanaka, Tanaka, Tanaka

Tanaka 1s 25 years old.




printBd#L — XX F5 (TA-VvF3XF5)

print(f'{s} is {i} years old.')

s = 'abc'

print(f'right : {s:_>8}")
print(f'center : {s:_79}')
print(f'left : {s:_<8}"')

1234
print(f'zero padding : {s:08}')

5 =

»

Tanaka 1s 25 years old.

right : _____ abc

center : ___abc___

left : abc_____

zero padding : 00001234




PRRIEE

o EUE (MN8) : + HET

o 5|28 (BRE) : - BHETF

o BNTE (FE) : * BHEF
IDE (BRE) : / BETF
DEDREED (BEFFRE) : // BETF
IDEDREIFR GRD,mod) : % BET
=EE: o JHEF

o ZeroDivisionError

O

D

O

Oh O

O

O




MAPESE (+, %/, //, %)

print(f'5 + 7.485 = {5 + 7.485}')
print(f'8.21 * 3.5 = {8.21 * 3.5}')
print(f'18 / 2.4 = {18 / 2.4}")
print(f'15 // 2 = {15 // 2}')
print(f'15.78 // 2.4 = {15.78 // 2.4}")
print(f'15 % 2 = {15 % 2}')

print(f'15.78 % 2.4 = {15.78 % 2.4}')

"

5 + 7.485 = 12.485
8.21 * 3.5 = 28.735000000000003
18 / 2.4 = 7.5

15 // 2 = 7

15.78 // 2.4 = 6.0

15 % 2 = 1

15.78 % 2.4 = 1.38

BETD // FEOBME2EZIZEUSLES, AHFEIEDER KOG M
[Cheonxd ., FIAISEOERED 7.56 THNIL 7. -4.785 THNIL -5 ¢

BYEd,




MALER (**, &%IRfL 0TOEIVE)

print(f'10 ** 3 = {10 %% 3}')

print(f'2 **x 0.5 = {2 ** 0.5}')

print(f'10 %% -2 = {10 *x -2}')

sl = 100 / 10 ** 2 + 2 * 3 - 5

s2 = 100 / (10 **x 2) + (2 * 3) -5

print(f'160 / 10 ** 2 + 2 * 3 - 5 = {s1}"')
print(f'160 / (10 ** 2) + (2 * 3) - 5 = {s2}')
print(f'10 / 8 = {10 / 0}"')

print(f'10 / 8 = {10 / B0}’

)

ZeroDivisionError: division by zero

10 %% 3 = 1000
2 %% 0.5 1.4142135623730951
10 %% -2 = 0.01

100 / 10 %% 2 + 2 ¥ 3 - §5 = 2,

100 / (10 *x 2) + (2 * 3) - 5

0]
= 2.0
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a_list = [0, 1, 2]
b_list = [10, 20, 30]
a_tuple = (0, 1, 2)
b_tuple = (10, 208, 30)
a_str = 'abc'

b_str = "xyz'

print(f'a_list + b_list = {a_list + b_list}')
print(f'a_tuple + b_tuple = {a_tuple + b_tuple}')
print(f'a_str + b_str = {a_str + b_str}')

-

a_list + b_list = [0, 1, 2, 10, 20, 30]
a_tuple + b_tuple = (0, 1, 2, 10, 20, 30)
a_str + b_str = abcxyz
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orint(f'b_list * 3 = {b_list x 3}')

orint(f'b_tuple * 3 = {b_tuple * 3}')

orint(f'b_str * 3 = {b_str x 3}')

orint(f'a_list + b_list * 3 = {a_list + b_list * 3}')

-

b_list = 3 = [10, 20, 30, 10, 20, 30, 10, 20, 30]

b_tuple * 3 = (10, 206, 30, 10, 20, 30, 10, 20, 30)

b_str * 3 = Xyzxyzxyz

a_list + b_list * 3 = [®, 1, 2, 10, 20, 30, 10, 26, 30, 10, 20, 30]
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int BN num = 6
float FEIN R num = 3.14
str X 75 str = ‘abc’
bool 7= flg = True, flg = False
datetime H A date = datetime.datetime(2020, 1, 31, 12, 36, 45)
list skl list = ['abc’, 6, True]
tuple 5T tuple = (‘abc’, 6, True)

dictionary T dict = {'Key1": 'Val1’, 'Key2': 'Val2}
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a
b
C
d
e
g

1234
"abc'
5.14159

[1, 2, 3, 4]
(1, 2, 3, 4)

{'keyl': 1,

print(f'{a}
print(f'{b}
print(f'{c}
print(f'{d}
print(f'{e}
print(f'{qg}

is
is
1s
1s
1s
1s

'key2': 2}

type
type
type
type
type
type

{type(a)}')
{type(b)}")
{type(c)}")
{type(d)}")
{type(e)}")
{type(g)}')

1234 is type <class 'int'>

abc 1s type <class 'str'>

3.14159 is type <class 'float'>

[1, 2, 3, 4] is type <class 'list'>

(1, 2, 3, 4) is type <class 'tuple'>

{'keyl': 1, 'key2': 2} is type <class 'dict'>
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h = str(a)
print(f'{h} is type
i = str(c)
print(f'{i} is type
j = int('456")
print(f'{j} is type
k = float('4.56")
print(f'{k} is type

{type(h)}")

{type(i)}")

{type(3)}")

{type(k)}")

1234 1s type <class

'str'>

3.14159 1s type <class 'str's

456 1s type <class
4.56 1s type <class

‘int'>

"float'>
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1

"ABC'

[1, 2, 3]
{'apple': 200,

o O o
I

print(a)
print(b)
print(c)
print(d)

‘orange’': 100,

'banana': 150}

1

ABC

[1, 2, 3]
{'apple': 200,

'‘orange': 100,

"banana’:

150}
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a =1
print(a) .
a = 'aaa’

| aaa
nrint(a)

aaa

b = 3
nrint(b)
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X, y, z=1, 2, 3
a, b, c=x, vy, 2z
orint(f'x = {x}')
orint(f'a = {a}')
rint(f'y = {y}')
orint(f'b = {b}"')
rint(f'z = {z}')
orint(f'c = {c}')
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weight = 82 # your weight

height = 1.76 # your height

BMI = weight/height/height # your BMI
print(f'Your BMI is {BMI}') # print out
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.'_I_'_-II-_.

weight = 82 # your weilght

'_|_'_-l|-_.

height = 1.76 # your height

# BMI = weight/height/height # your BMI
print(f'Your BMI is {BMI}') # print out

.'_|_'_-l|-.

PyCharmTODITIAY D Y3V EAYE © ctrl + /
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weight = 82 # your weilght
height = 1.76 # your height

BMI = welght/helght/height # your BMI
print(f'Your BMI is {BMI}') # print out




vall = input('Enter a string: ')
1\ w ~ print(f'The string is {vali}')
F-ihn—FDB A -
print(type(vall))

val2 = input('Enter a nubmer: ')
print(f'The number is {val2}')
print(type(val2))

print(val2 + 3)

Enter a string: abc
The string 1s abc
<class 'str'>

Enter a nubmer: 123
The number 1s 123
<class 'str'>
Traceback (most recent call last):
File "C:\Users\steve\PycharmProjects\wangzk\input_function.py", 1line 9, in <module>
print(val2 + 3)
TypeError: can only concatenate str (not "int") to str
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